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> attach(iris)
> jiris.Im<- Inm Sepal.Length ~ Sepal . Wdth)
> sunmary(iris.Im
Cal | :
I m(formula = Sepal . Lengt h ~ Sepal . Wdt h)
(Rtghf a3 - g )
Signif. codes: 0 ‘***' 0.001 ‘**' 0.01 ‘*’ 0.05 ‘.” 0.1 ° "' 1

Resi dual standard error: 0.8251 on 148 degrees of freedom

Multiple Rsquared: 0.01382, Adj usted R-squared: 0.007159

F-statistic: 2.074 on 1 and 148 DF, p-value: 0.1519
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tmp <- ailrdata.meam[, -(1:3)]
np <- nrow(tmp) * ncol(tmp)
id <- sample(1:np, floor(np* 0.1))
tmp[id] <- NA
airdata.mean.miss <- cbind(airdata-mean[,l:B], tmp)
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